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Choose the correct Answer:  20x1=20
Opening statement of affairs of usually prepared to find out the , :
a) Capitalin the beginning of theyear = b) Capital at the end of the year

- ¢) Profitmade during the year . d) Loss occurred during the year

10..

11,

12,

What is the amount of capital of the proprietor, if his assets are ¥ 85,000 and liabilities are ¥ 21, 000?
a) T 85, o0 - b) ¥.1,06,000 c) 21,000 . d) ¥64,000

Rece!pts and payments account records recelpts and payments of (,

a) Revenue nature only Al gt By b) Capital nature only

c) Bothrevenue and capltal nature 8 d) None of the above

g There are 500 members in a club each paylng <100 as annual subscnptlon Subscrlptom due but not .

rreceived for the current year is T200. Subscnptlon recelved in advance is ¥ 300. Find out the amount of
subscnptlon to be shown in the income and expenditure account, )

a) ¥50,000 b) ¥50 200 : c) 49,900 d) ?49 ,800
ln the absence of a partnership deed, prof ts of the firm will be shared by the partners in : ,

a) Equalratio " . 'b) Capitalratio - . ¢) Both (@)and (b) - d) Noneof these

‘As per the indian partnership act 1932, the rate of lnterest allowed on loans advanced by partners s

a) 8% per annum b)) 12% perannum ) 5% perannum d) 6% perannum
Wthh of the followmg statement is true? ‘

- @) Goodwillis anintangible asset - b) Goodwill isa current asset'

'c) Goodwill is a ficitious assets - : - d) Goodwill cannot be acqmred

The total capltallsed value of a busmess is 1, 00 000 assets are ¥ 1 ,50 000 and habllltles are ?80 OOO

The value of goodwrll as per the capltallsatlon method will be o .
a) 340,000 ~ b) 70,000 1.6) ?1 ,00, 000 . d) X 30, 000

“ The profit or loss on revaluatlon of assets and |labllltles is transferred to the capital account of

a) The old partners - .'b) The new partner c) Al the partners L d) The sacrificing partners
James and Kamal are sharlng proflts and losses in the ratlo of 5:3. ‘They admlt SUl"II| as a partner glvmg

“him- 1/5 share of prot" ts. Find out the sacrifi cmg ratio.

g 14377 Bt g5 ,_.t‘d)35
On retirement of a partner from a partnershlp firm accumulated prof ts and losses are dlstnbuted to the
partnerstothe

a) Newprof‘tshanng ratlo R o L ‘ b) Old profts shar:ng rat|o

c) Gaining ratio o o d) Sacnﬁcrng ratio LW :
A ,BandC are partners shanng profits i in the ratio of 2 21, On retlrement of B, goodwull of the f irm was . -
valued as ?30 000. Find the contrlbutnon ofA and Cto compensate B.

a) ¥20,000andT 10,000 Ay e ) ?eooc)anduooo x
c)' 10,000 and?zo,o_oo ) T15000and T 15,000
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After the forfeited shares are reissued, the balance in the forfeited shares account should be transferred to
a) General reserve A/c . _ b) Capital reserve A/c
c) Securities prem_ium Ac d) Surplus Alc
Match the pair and identify the correct option. | A
1) Under Subscription =) Amount prepaid for calls
2) OverSubscripton - i) Subscription above the offered shares
3) Callsin arrear - - i)  Subscription below the offered shares
4) CallsinAdvance - ¥’ Amountunpaid on calls

2 55() @ ® @
a ) @ o W

LY R ) R ) I (i) @i

o ) (i) ) 0}

Y | N ()
15.

Which of the followrng is not a tool of ﬁnancral statement analysrs'?

a) Trend analysis ) N : ol b) Common size statement

.. ©) Comparatrvestatement 3 R . d) Standard costing

16.
Whatis the trend percentage in the second year'?

oAy 0% b) 10%. = 09%0% d 1%
17. e

. a) Propenetary b) Capital gearing ratio - ¢) Debtequrty ratio 'd) Currentratio
18.

19.

20

Expenses for a business for the fi rst year were X80, 000. ln the second year, |t was increased to ?88 ,000.

Proportion of share holder’s funds to total asset is called

Cost of revenue from operations 4 3,00,000; Inventory in the beginning of the year 4 60 000; Inventory atthe
close of teyearX 40 000 Inventory turnover ratro is 7 ;

a) 2times ... b) 3t|mes _ : c) 6trmes d) 8times
“Accounting report prepared accordrng to the reqmrements of the user |s |
a) Routrneaccountrng report O b) Specral purpose report
. €) Tnal Balance : ' RN ) Balance sheet -
i Salaryaccount.comes underwhrch ofthe followrng head? Lt
a) Directincomes . b) Direct Expenses ) Indrrect incomes d) Indirectexpenses
| Answerany7questrons Q.No. 30 is compulsory % . : 7x2=14

21

323
24,
25,
26.

27

State the accounts generally marntarned by small sized sole trader when double entry accountnng system
is not followed. ' : ,

State the meaning of not for prof t organrsatron _

Kevin and Francis are partners. Kevin draws 5, 000 at the end of each quarter. Interest on drawings is
chargable at6% p.a. Calculate intereston drawrngs for the year ending 31st March 201 9 using average period.
What is Super Profit?

‘What is meany by revaluation of assets and lrabrlrtles

Abdul Ltd issue 50,000 equity shares of ¥ 10 each payable fully on applrcatlon Pass Journal entrles if
shares are issued (i) at par (ii) .ata premium of T2 pershare.
From the follownng partlculars prepare comparatrve income statement of Arul Ltd
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Particulars 2015-16% 2016-17%
Revenue from operations _ 50,000 60,000
OtherIncome - o % 10,000 30,000
Expenses ' 40,000 50,000

From the following information of Geetha Ltd. Calculate fixed assets turnover ratio.

i) Revenue from operations during the year were ¥ 55,00,000,

i) Fixed assets at the end of the year ¥ 5,00,000.

What is Accounting information system (AIS)?

Give any four reasons why a partner may wrthdraw froma partnership firm.

Answer any 7 questions. Q.No. 40 is compulsory. . Tx3=21
On 1stApril 2018 such a started her business with a capital of 1,20, 000. She did not maintain proper book
of accounts. Following particulars are available from her books as on 31.3.2019.

Particulars - Tl ¢ Particulars = = - 3
Bank overdraft | . 50,000 Stock in trade |+ 1,60,000
Debtors 180000 | Credtor . [ 90,000
Bills receivable + 70,000 | "Bills payable « | 240,000
Computer = *- 30, 000 Cash in hand 60,000
Machinery - 3,00 000‘ d

During the year she withdrew ? 30,000 for her personal use. She introduced further caprtal of 340,000
during the year. Calculate her profit or loss ;

From the followmg receipts and payments account and the additional information glven below Calculate
the amount of subscrlptlon to be shown in income and expendrture account for the year endlng 31st

- December 2018. : . ‘ b il e _
Receipts = e Po X0 “Payrnehts ] R {
To Subscription W R ; :
2017 " 28,0000
2018 - 1,72,000 i
2019 | 12,000 2,12,000

Additional Information: :
Subscriptioh outstanding for the year 2018 is ¥ 8,000.

. State the features of partnershlp e s
. From the following information relating to a partnership fi irm, fnd out the value of its goodwrll based on3

years purchase of average profit of the last 4 years. » - s

a) Profits of the year 2015, 2016, 2017 and 2018 are ¥ 10 000, ¥ 12,500, ¥ 12,000 and ?11 500 respectlvely T

b) The business was looked after by a partner and his fair remuneratlon amounts to ?1 ,500 peryear. This
amount was not consrdered in the calculation of the above profit.

. List out the adjustments made of the time of retirement of a partnerin a partnershlp firm. _
. Nathiya Textiles Ltd forfeited 100 shares of X 10 each, s called up on which Mayuri had paid application
- and allotment money of X 6 per share of these 75 shares were re issuedto Soundarya by receiving X7 per

share paid up as ¥ 8 per share. Pass journal entrres for forfeiture and reissue.

7
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37. Fromthe following particulars prepare comparative income statement of Daniel Ltd. 77
Particulars : 2015-16% 20156(; 200
Revenue from operations 40,000 27’ 500
Operating expenses g o 25,000 ' 0
Income tax (% of the profitbeforetax) =~ [ - - 30
38. From the following details of a business concern calculate net profit ratio.
Particulars : %
Revenue from operations L L 9,60,000
| Costof revenue from operations i 5,50,000
Office and administration expenses * - 1,45,000
Selling and distribution expenses - Yo 25,000

39, Mentlon the commenly used Voucher types in Tally ERP9.

e flrm’? Can
40. Canthe partner adjust the partnershlp to thelr new prof it sharlng ratio when they r e_organlze h
be set in any conditions. ' s A

IV. Answer all the: questions. G | SCARE- S T - Tx5=35 |
41. (@) From thefollowmg partlculars Calculatetotal sales. - s

- |Particulars : P B ¢ Partlculars . | o g T : 3

| Debtors on 1st April 2018 2,50,000 'Blllsrecelvabledlshonoured | 15500

.|Bills recelvableon1stApnI 2018 - 60,000 Returnsmward : e | - 50,000

e Cash received from debtors 7,:25,000 . Bills recenvableon 31tMarch 2019 .- 90,000

Cash received forbllls recelvable 1,60,000 Sundry debtors on 31st March 2019 2,40,000

Bad debts i 30,000 | Cashsales =~ 3,15,000

- : (OR) ok ‘

(b) j From the followmg trading actlvmes of Rovina Ltd. calculate (|) Grosspr_oﬁt ratio (ii)' Net profit ratio
5 (m) Operatlng cost ratio (IV) Operatlng prof t ratio, - ' ‘ ' '
. Statement of profit and Ioss

Particulars - : : N e B G
. Revenue from operations AR - | 400,000
I ",Omett’lnc’cbrne' - B ol :
___Incomefrominvestment . 4000
ll. Total revenues (I +1) - 74,084,000
IV. Expenses: L , o ‘ ‘
P'Ur'(:hase of stock in trade i & 2,10,000
‘Changein inventories © . _ Bl bt 30,000
" Finance costs = - = 24,000
Other expenses (Adm|n|strat|on and selhng) 60,000
" Total expenses ’ 3,24,000
V. Profit before tax (llI-1V) 80,000

42, a) From the information given below, prepare receipts and payments account of Madurai heer. s
Mahalir Mandram for the yearended 31st December2018 B : urat MotherTheresa

)

LN
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Particulars ol Z. | Particulars - : Z.
Cash balances ason 1.1.2018 2,000 | Fireinsurance premiumpaid = | 1,500
Bank balance as on 1.1.2018 3,000 | Subscriptionreceived . = - - 8,500
Sale of old newspapers £l 500 | Furniture purchased i 6,000
Stationery purchased _' 6,000 Purchase ofnewspapers = - 700
Audit fees paid ) 3 ; 2,000 Deprecratron on furniture 900
Entrance fees received ‘ e : | 3,060 Cash balance ason 31 12 2018 | 2,500
Sundry changes - . s 6,000 Conveyance paid i - 1,000 '
Scholarship given : el 2000 | Saleoffurniture . 4,000 |
Interest on mvestments g ol 2,000 i ‘

akwaacademgobllogspot com..
Sai and Shankar are partners, sharlng prof ts and losses in the ratio of 5:3. The f irm's balance sheet

ason 31 st December 2017 was as follows

Liabilities T | T| Assets | Q— 3
Capital accounts - - | Buildings. T~ -q- .| 34,000
o gal o 48,000 | Fumiure Gl "' 6,000
Shankar | 40,000 | 88000 | Investment. || 20000
Creditors -~ [ ~ 37,000 | Debtors = ~4'0,‘0'004 | g

Outstanding it i e ' l_ess: Provision for_ e Y

Wages . ~ | 8000 baddents | 3000 | 37000
RIS PSR R I ® SO e HRS
N 5 N ] stk T ] 46000
& b e ik - Ba’nk SRR Y bt 8,000
133000 e i o LG 133000

On31st December, 2017 Shanmugam was admltted |nto the partnershlp for 1/4 share of prof‘ t wrth
<12,000 as capltal subject to the folIowmg adjustments

a). Furniture is to be revalued at 5,000 and burldmg is to be revalued at ?50 000
b) Provrsron for doubtful debts is to be mcreased to¥ 5 500 :
c) An unrecorded investment of ?6 ,000i |s to be brought mto account. - ‘
' d) An unrecorded l|ab|l|ty %2 500 has to be recorded now. i i
_ _Kavrtha is a partner in a fi rm She wrthdraws < 2,500 p m regularaly Interest on drawrngs is

charged @4%p.a. Calculate the mterest on drawmgs usrng average penod if she draws.
i) atthe beglnmng of every month '

(i) inthe middle of every month
» iii) at the end of every month

| | (OR) |
Progress Ltd, issued 50 000 ordlnary shares of ¥ 10 each payable ? 2'on applrcatron ?4 on:

allotment, ? 2 on first calland ¥ 2 on t” nal call All the shares are subscribed and amountwas duly -
received. Pass journal entries

From the following receipts and payments acco‘unt of Tenkesi-Thimualluvar Manram, prepare income
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and expenditure account for the year ended 31st March 2019.
Receipts X | Payments : X
To Balance b/d ] " - | By salaries ek ZO'OOOI
Cashinhand . ~14,000 | By Rent ' ‘ ‘24'00.0
Tointerestreceived 5,000 | By Travelling expenses - 2,000
To Subscription 55,000 | By Printing and stationery 6,000
To Legacies L 48,000 | Byinvestments made | 50,000 -
ToEntrancefees - 7,000 | By sports equipment purchased | 33,000
To sale of furniture 16,000 | By balance c/d ‘ _
(Bookvalue17,000)_ | Cashin hand : 10,000
| 1,45,000 i 5  [1,45,000
(OR)
b) From the followmg particulars, calculate the trend percentages of Anu Ltd.
‘ ¥ Inthousands
| Particulars :
7 . year 1 year 2| year 3
I. EQUITY AND LIABILITIES Lo ' ‘

' ShareholdersFund | 50 | 55 | 600"
Non-curentliabilties | 200 | 250 | 240
Currentliabilites PR 100 | 80 120

| Total = _ - | 80 | 880 960
‘| Il. ASSETS ; ' ‘
~ 'Non-current assets - | 600 720 780
'~ CurrentAssets 200 | 160 | 180
Total S 800 880 960 -

45. a) Flnd out the value of goodwill by capltahsung super prof' its.
iy s Normal Rate of Return 10%. :
- i) Prof ts for the Iast four years are ¥. 30 000 T.40,000,%. 50 000 and .45 000

iii) A non-recurnng income of Z. 3,000 is included in the above mentloned profit of? 30,000.
iv)  Average capltal employed is Z. 3,00,000. B

(OR)

_b) “Ananth does not keep his books under double entry system F|nd the proﬁt or loss made by him for -

" the yearendmgﬂst March, 2019.

Particulars | 3320187 | 3132019%.
Cash at Bank | 5000(CrH . 60,000 (Cr)
Cashinhand . .' 3,000 4,500
Stock of goods St A ’35‘,000 s : 45000 |+
Sundry Debtors - ~1,00,000 o000 |
Plantand Machlnery ‘ : 80;000 . 80,000 |
Land and Buildings . | 140,000 v _1.40,000A-

| Sundry Creditors Ao | - 1,70,000 1,30,000

1

| £ : ‘ La
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- Ananth had withdrawn . 60,000 for his personal use. He had introduced Z. 17,000 as capltal for

expansion of his business. Create a prowsmn of 5% on debtors Plant and Machinery is to be depre
ciated at 10%, 3

Ch
andru, Vishal and Ramanan are partners in a firm 'sharing profi it and Iosses equally. Their
balance sheet as on 31st March, 2018 as follows.

Liabilities Z.

z. Assets : z c

CapltaliAccounts: . Fumiture ~ 60,000
Chandru  * | "60,000 | Machiney . | .| 1,20,000
Vishal’,» 70000 |- | Sundrydebtors | 33,000 7

Ramanan A 70,000 ©2,00,000 Less: Provision for

‘Bills payable ' 80,000 doubtful debts | 3000 30,0(‘)0' -
' Bills receivable - 50,000
Cashatbank - | 20,000

2,80,000 : , © 1 2,80,000

| iii) Provision for doubtful debts should be increased to ?.5;000.

Ramanan retired on 31st March 201 9 subject to the following condltlons
i). Machinery is valued at.1,50,000.

ii) Value of furniture brought down by ?.1'0,000.

V) Investment of £.30,000 not recorded in the books.is to be recorded riow. - . E
Pass necessary journal entries and prepare revaluation account. |

(OR)
-‘_Followmg is the balance sheet of Lakshmi Ltd. as on 31st March, 2019
PARTICULARS . £ : i € Z
| EQUITYAND LIABILITIES »
1.. Shareholders’ funds | : ;
Equity share capital =~ 4,00,000 " -
2. Non-currentliabilities , M A
. Longtermbormowings : " 2,00,000 |
3. Current liabilities A Iy WL A (R
. (a) Short-termi borrowings | - 50000
(b) Tradepayables - | 310000
~ (c) Othercurrent liabilities T S
‘Expenses payable | 15000
- (d) Shorttemprovisions ' 25,000
| TOTAL . | 10,00,000
Il ASSETS '
1., Non-current assets - sy
(a) Fixed assets Tangibleassets -~ | 4,00,000.
2. Currentassets Ve . R
(a) Inventories W 1,60,000
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(b) Tradedebtors . 3,20,000

(c) Cashand cash equivalents J 80,000
(d) Othercurrentassets . j ‘

Prepaid expense§ B 7 40,000

TOTAL akwaacademy.blogspot.domo,00,000

- Calculate: (i) Current ratio (i) Quick ratio
47. a) Prepare common-size balance sheet of Meena Ltd as on 31st March 2018.

~ PARTICULARS 31st March 2018
| EQUITY AND LIABILITIES :
 Shareholders'funds - 2,00,000
_ Non-currentliabilifies . - ' * 1,60,000
Current liabilites - , . 40,000
‘ Total . Bl . 4,00,000
Il ‘ASSETS duy 5
_Non-Currentassets _ 300,000 ;
Currentassets |~ 100,000
Total - R 4,00,000
: (OR)

b) Explain any five épplicéﬁoﬁs of cdmputéris'ed accounting systerﬁ.

¢

Kindly Send Me Your Questions & Answer Keys to us: péaaﬁafﬁim&@&ﬁ%?ﬂ%%fm


https://whatsapp.com/channel/0029VaAqUqk9Bb672tBn033m

